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B oK B & 13 mm %lﬁlwblﬁl"?ﬁ_ 50 [
TATI7 VP DOFE A ML —RT7 A7 70k 60/80 BLEEREHER | ERk 29 £ 11 H
FREMOENES - #E - EE ® o5 R A ~
B M A B A K| M OE i Hh &« B o | BEA K| EE
| (%) : (%) (kg)
S—20 . 5
S—13| 76.0 |HERE |KETEAHET  BRERaIER| 422
S— 5 5.0 |BEME |KENEAHERT WARBRGIER| 3BV 71.6 1432
FeriRb 7.0  |[ARE JHEMREE KRBT 2 E¥ 5.7 114
Tk 7.0 |@EDE |AEmEAEET @BREHRETER| 1B 13.4 268
M 0Es
H OB 5.0 |AKE R THTFRIRET A TR ZZ 1.0 20.0
a 3.8 76. 0
TAT7Ivh 4.5 - 90.0
& 100.0 | 21 100. 0 2000. 0
HS5BH0VWH |2 AN BE & B B B & | maAMmEAR|] v B & H
53 . mm B .
i 37.5  mm
ﬁ 3.5  mm
B | 265
= 19 m 100. 0 100. 0 100.0 100
A 13.2 mm 96. 1 96. 8 98. 0 95 ~ 100
ool 4.75 mm 27.8 28.5 97.8 20 ~ 36
s 2.36 mm ~18.2 18.7 18.3 12 ~ 25
. 600 pum 10.1 10.7 10.1 ~
/0 300 um 7.8 8.2 8.2 5~ 13
150 pum 6.2 6.2 6.3 ~
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Z N E &8 B BE 6| % FRBR # b B
TAT gV E (%) |B&Ft 4.5 RAE 4.5 fhit 4.4 4.0 ~ 5.0
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< R BRRAEE  (g/n’) 2. 506 2. 506 2. 506
| &2 B ¥ (%) 15.3 15. 2 15.6 12 D=
vESL o E (%) 37.6 37. 7 37.1
Yl & F (KN) 5. 32 5. 55 6. 63 3. 00 oLk
NVBZ u — fE (1/100cm) 21 = 20 ~ 40
REREEE (%) 80.9
x ¥ B E (g B 2.125 —
B M % FE E (E/m) — —
T 0 B YR | —— S =
# Bt g (%) — —
% K FR B (en/sec) — 8. 08X 107> 1x107° Lk
BEEWHWHEHERE 160 + 10 °C
A R e H




